Practice exercise, Lesson 16

1. ZOBHPLZERF>TWVLT °

(0]

AELAZW

This one is wrong. It should be:"C D EA L ZF > TV 2AEL W, "

ns

This is right. The translation is: "After | bring these sweets..."

DT...

This one is wrong. It should be"c DE A L ZF > TV 2D T..."

LE2IZ

This is right. The translation is: "(She) ended up bringing these sweets (to some place.)"
BRFVLET

This one is wrong. It should be:"C DE AN L ZF> TV 2 TLKEE WV, "HRHF WL ET does

not connect with a verbal gerund.
HEWT

This is right. The translation is: "Bring these sweets (to some place) in advance."

2. MEAZE °

(0]

FEWL2TVWERT
This one is wrong; % is the wrong particle. Note:

"HEADNEV 2 TVWET"[Abagis in (it)]
"HEAICEV S TWET"[(It) is in the bag.]

LE2TLLEZWV

This is right, but be careful with the translation: "Please put the bag away."
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LOTLSEZWY

(o}
This is right. The translation is: "Close the bag, please."
3. XEHY
o BTN
This one is wrong. It should be:"& & & & (77 A* 2 72" [I did not open the window.]
o LEL2>THS...
This is right. The translation is: "After the window becomes close..."
o HVTVWEATT
This is right. The translation is: "It is that the window was open."
4.  HYWFRLIL,
o BEVLT
This is right. The translation is: "It was written."
o BRWT
This one is wrong. It should be:"E T THV EL =, "
o LEST
This one is wrong. It should be:"UL & TH VW EL =, "
o EWLT
This one is wrong. It should be:"\W N TH VW EL =, "
o 2H2T
This is right. The translation is: "It was used."
5. 7LEZ
o 2\WT

This one is wrong. It should be: "7 L EA" DL /=" [The TV was turned on]
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o cL&SLE®DI
This one is wrong. It should be: "L EA"C L &5 L E % 2 =" [The TV got broken.]
o HEBHMO2ED
This is right. The translation is: "l did not turn off the TV."
o PITTHYWERT
This one is wrong. It should be: "7 L EA" DT T&H V) £9" [The TV has been turned on.]

6. WU °
o PELIhELEA

This is right. The translation is: "It may be important.”
o ZTVWTL&S

This one is wrong. It should be: "ZWL LU ®ZV\WTL &5, "
o ¥LKELIHNHBNDT

This one is wrong. It should be: "ZZWU X < < A" S D T..." [Since there is an important

appointment...]
o MOT...

This one is wrong. It should be: "/Z\W\U % @M T..." [Because it is important...]
o &K

This is right. The translation is: "It is important (I tell you.)" Note that this is informal female

style. If spoken by a male, the ending should be " &k".
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